
Multiply and Divide by 10⁻² (J)Find each product or quotient.
59 ÷ 10⁻² = 38 ÷ 10⁻² =
1 ÷ 10⁻² = 56 × 10⁻² =
9 × 10⁻² = 80 ÷ 10⁻² =
30 ÷ 10⁻² = 49 ÷ 10⁻² =
57 ÷ 10⁻² = 86 × 10⁻² =
20 ÷ 10⁻² = 81 ÷ 10⁻² =
88 ÷ 10⁻² = 39 ÷ 10⁻² =
13 ÷ 10⁻² = 91 × 10⁻² =
98 × 10⁻² = 55 ÷ 10⁻² =
94 × 10⁻² = 25 × 10⁻² =
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Multiply and Divide by 10⁻² (J) AnswersFind each product or quotient.
59 ÷ 10⁻² = 5,900 38 ÷ 10⁻² = 3,800
1 ÷ 10⁻² = 100 56 × 10⁻² = 0.56
9 × 10⁻² = 0.09 80 ÷ 10⁻² = 8,000
30 ÷ 10⁻² = 3,000 49 ÷ 10⁻² = 4,900
57 ÷ 10⁻² = 5,700 86 × 10⁻² = 0.86
20 ÷ 10⁻² = 2,000 81 ÷ 10⁻² = 8,100
88 ÷ 10⁻² = 8,800 39 ÷ 10⁻² = 3,900
13 ÷ 10⁻² = 1,300 91 × 10⁻² = 0.91
98 × 10⁻² = 0.98 55 ÷ 10⁻² = 5,500
94 × 10⁻² = 0.94 25 × 10⁻² = 0.25
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